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Solve the Word Problem
1) The combined total of students in three grades is 587. If there are

198 students in first grade and 215 in second grade, how many
students are in third grade? If 37 third-grade students were absent
today, how many were present?

2) A library had some books. After receiving 234 more books, they now
have 879 books in total. How many books did they start with? If 167
books were checked out, how many books remain on the shelves?

3) The sum of two numbers is 724. One number is 358. What is the
other number? If this number decreases by 127, what will its new
value be?

4) A fruit basket contained 245 pieces of fruit. After 87 pieces were
eaten, how many remained? If an additional 56 fruits were added to
the basket, what is the total amount now?

5) The total expenditure for a class field trip was $875. If $326 was
spent on transportation and $294 on admission tickets, how much
was left for lunch? If lunch cost $198, how much money remained
afterward?


